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solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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1. 2017+2017+2017+2017+2017= ?
=2017x5=(2000+17)x5=2000x5+17%x5=10000 + 85 =10085
2. 1000000+2+2+2+2+2+5+5+-5+-5=79
[ %%z 1]
=2X2%X2x2%X2x2xX5x5x5x5x5x5+-2+2+-2+2+-2+5+-5+5+5
=2x5x5=50
[ %+ jz2iz 2]
=1000000+10000+2=100+2=50

3. 222222222 + 22222222 + 2222222 + 222222 -11111-1111-111-11-1= ?
= (222222222 + 22222222 + 2222222 + 222222) — (11111+1111+111+11+1)

= 246888888 —12345 = 246876543
4, 240+70+80x350+60x420= ?
=240+80x350+70x420+60=3x5x7=105
5. 24x60x60= ?
[ %%z 1]
=24x36x%100
=(30-6)x(30+6)x100=(30%x30-6x6)x100
= (900 - 36) x100 = 86400
[ %+ 3z 2]
=24x6%x6%100
=144 x6x100 =86400
6. 20.27-(60.71-40.73) +80.16 - (179.79-100.84) = ¢
[ %% %z 1]
=20.27-60.71+40.73+80.16-179.79+100.84
=(20.27 +40.73) - 60.71+ (80.16 +100.84) —179.79
=61-60.71+181-179.79
=0.29+1.21=15
[ %+ 3z 2]
=20.27-60.71+40.73+80.16—179.79+100.84
=(20-60+40+80-179+100) +(0.27-0.71+0.73+0.16 - 0.79+ 0.84)
=1+(2-15=15




7. 71.02+1027+2.71+27.1=7
=(71+10+2+27)+(0.2+0.27+0.71+0.1)

=110+1.1=1111
4.3 4 6.18 2'02)x99: 9

(12.9 12.36 12.12
:(E+E—})X99:(§—})X99:£x9922x99:66

3 2 6 6 6 6 3
9. 7+13+19+25+---+1999+ 2005+ 2011+ 2017 = ¢
= (7+2017) + (13+ 2011) + (19 + 2005) + (25+1999) +-- - + (1009 +1015)

= 2024 + 2024 + 2024 + - - - + 2024 = 2024 x 168 = 340032
16874
10. 20-17+40-34+60-51+80-68+100-85+120-102+140-119+160—-136= ?

[ %5z 1]
= (20-17) + (40 - 34) + (60— 51) + (80 — 68) + (100 — 85) + (120 — 102)

+(140-119) + (160 —136)
=34649+12+15+18+ 21+ 24=3T29*8 _15g

I S AR
5 ﬁ*}z“ 2]
=(20+40+60+80+100+120+140+160) - (17+34+51+68+85+102+119+136)

o

[
_ (20+160)x8 _ (17+1236)"8 = (180-153) x4 = 27x4=108

2
11. (22001177 + 22110077 +112277 + 221177 +11002277 +11220077) + 6= ?
= ((22001100 + 22110000 + 112200 + 221100 + 11002200 + 11220000) + 77 X 6) + 6

= 66666600+ 6+ 77=11111100+ 77 =11111177

12. 5000 -2048-1024-512-256-128-64-32-16-8-4-2-1= 9
=5000-(1+2+4+8+16+32+ 64 +128+ 256+ 512 +1024 + 2048)

M) =5000-4095=905

= 5000 (
13, 2017x28_2 _ 5
63 63
2 2 2 2 2
= 2017 % (2+—) —— = 4034 + 2017 x — —— = 4034 + 2016 — = 4034 + 64 = 4098

63" 63 63

14. 4lix0.25+41.15xl+18£+1x413+41_15x£: %
3720 6 20 4
17 1_,.3 3 1

=413xl+4lix}+18—+—x41—+4l—x—
20 20 3 20 6 20 20 4
=4l£x(£+1+1+£)+18£:413x1+18£:60
20 4 3 6 4 20 20 20



15. 999+999x999 +999x999x 999 = ?

[ %%z 1]

= 999 x (1+ 999) + 999 x 999 x 999 = 999 x 1000 + 999 x 999 x 999
= 999 x (1000 + 999 x 999) = (1000 — 1) x (1000 + (1000 — 1) x (1000 — 1))
= (1000 — 1) x (1000 + 1000000 — 2000 + 1) = (1000 — 1) x 999001

= 999001000 — 999001 = 998001999
[ 5 fziz 2]
=999 + 999 x 999 x (1+999) =999 + 999 x 999 x 1000
=999 x (1+999000) = 999 + 999 x 999000
=999 + (1000 - 1) x (1000000 —1000) = 999 + 1000000000 —1000000 — 1000000 + 1000

=1000001999 — 2000000 = 998001999

)

460 297
16, 371 . L9098 _,
T+(G-=+2) 28
2 6 10
460 . 297

=§' o1 .598_460 91 1 37 243

77 - 37 243 37 297 77 30 598
30

_46x10 7x13 1 37 W 9x27 1 1 ., 3
37 11x27 7x11 3x10 46x13 11 11 ~ 121
17. 154154+ 49 +1573+ 462462 +121+ 637 = ?

[ %%z 1]

= 154154 x = x L 1154154 % 3x 1 x =
49 1573 637
—154154% = x—x (L +3 x—)
49 121" ‘13
—154x1001x—— x—* ><i

7x7 11x11 13

—154><1><i><4 11><14><1><i><4 8
7 11 7 11

[ 5 2z 2]

=154154><i>< ! +154154><3><i><i
49 1573 121 637
=154154 x ! +154154 x 3% L
77077 77077

=154154 x4 x L 2x4=8
77077



18. (41590x8193— 20170) + (4158x819.4 + 201.8) = ?
=10x (4159 x 8193 2017) + (0.1x (4158 x 8194 + 2018))
=100x (4159 %8193 - 2017) = (4159 — 1) x (8193 +1) + 2018)
=100 x (4159 x 8193 - 2017) + (4159 x 8193 - 1x 8193+ 4159 x 1 - 1x 1+ 2018)
=100 x (4159 x 8193 - 2017) + (4159 x 8193 - 8193+ 4159 — 1+ 2018)
=100 x (4159 x 8193 - 2017) + (4159 x 8193 - 2017) =100
7,37,85 148 235 337

19. =7
10 40 88 151 238 340

= ——)+(1——)+(1——)+(1——)+(1——)+( -2

151 238 340
3 3 3 3 3
=6- (— —+—+—+ +—)
10 40 88 151 238 340
3 3 3 3 3 3
=6—( + + + + + )
2x5 5x8 8x11 11x14 14x17 17x%x20
1 l 1 1 1 1 1 1 1 1 1 1
=6-(=—=t+t=—=+=—"—"—"F+———F+———+——-)
2 5 5 8 8 11 ll 14 14 17 17 20
-A - (1 i) —_ i - E - 55 - u-
2 20 20 20 20
1 1 kS
512 511 500 .
oL T e Ly e Lyas Ly
512 512 511 512 511 510
1
ar Dyar Lyar Dyoas By
512 511 510 456
11 1 1
_512, 511 510 - 456
513 513 512 513 512 511 513 » 512 y 511 ... 457
512 512 511 512 511 510 512 511 510 456
1 1 1 1
= + + ook —

513 513 513 513

5718
= i x57= 1

513 9




